s

’

of. Druh kultury

P
1
2
3

Travnaty povrch

Betonové panely

Komunikace Il.tf.-asfalt

Hlinice

Vozovka-asfalt

| Travnaty povrch |

Vozovka-asfalt

Travnaty povrch

Vozovka-asfalt

Tlravnaty povrch

Vozovka-asfalt

Travnaty povrch

Stromy

Travnaty povrch

Travnaty povrch

Travnaty povrch

Travnaty povrch

UZEMI

DRUHY POVRCHU

= | [0 ] N
E 3 o ~ 5|30
<= g < N S| &
g g c N 3
z £ S 8 2
£3 3 <
SN .
2 0l _
28 L8ST G| 6
28 e S BE -
T 5 ZgSK 8 i E S o
mn - o RY < oo S S ~
-9 Qx93 o|o N N
> 3 0Fas s, SEINE 3
= < Oz59¢g¢9 33 |1 A
=g © |
S o Y vm .m m g8 < | <
£ LsE808 212 1zl | O
L o9 £58L 2 NN S
e zo LS8-ES ol ® S v
2 g N D258=8§ A > > |s
* = T N © > o| O o
325 SRy w \ 2|2
% o0 L<Ed2u __ NN X N
Z53 L , SEIEE
T EE L =l =] |8 (@) [
5N slol 1| >
& o 8
g8 3 \ [ O
T 3 E . S| o @ n v
X O . NeliNe]
523 g SiEl 5] | - S
n S
© 0% S S 5|3 O O <= 2
S 38 c 3 Q| QS , — D =
o g >S5 ) S| & m_hv N A
B g5 o ‘© 8|3 S 4 TTEA 4 =
587 sIgl 1218 ] | d @ > 258
220 AEIEIEIE o | @ v 8 Wn
_” ..QHU. 7} > | | » | D S X | X o H O O H
. [ | O o | = n|lwn o 1 V
T W. ko] -— = | T 7)) cl| c ~ D “_
£8 6 N g/ TS| ol ol |s N @) ™
m IQKU VM ¥ i X|(¥|5|< \© | @ o 1 A <L [m)] O
8 & () |s|sls|s|a| [BE] |2 - a 39 ia
25 o A Lis|slE|E > (> M R L A % > o
<N Y f & iR A N
v £ 3 ) Ll >
BT g ) S 19 = g Z
255 8 33 — | 00 & ¥ O -
Bz S ! S| 8 >0 ‘
5228 Q (Y 13 \ W > )
%52 2 A HEER < > o o
> 80 S n u x< S [ ] .
c EERSEERS
e % SEHRNNE ||| X = oo o-
il \ BEHEHHHENE
= B8 © ,w ,w N QR S
€ 8 ¢ S| S(Q| RIS SEES .
388948 828 8 SISIsI8sl 18138 I8l | s g
643354 vm »n C | W (Y ) S N 8 AN ,q W a'% m
oo o 8o x SIS|IN|>Y|Xx £(0 Iy < Ly
rOQ 4 W0 (720 i —
cHARJRVC©
238 3N
HISRTY
5
O-NM< W0
o
H T@/ <
OM - ———mmm P / // 19V — 8Lty 629y —eo1e b9
o
ZLL — 9GSV ZLvovy —{ 00092
611 — €0V 99'svy —| evéyL
0
wn
<
<
€9'L — SGEVY ezsvy —|  000v2 0
B|o
Y=
~
CEAE]-m———mmmmmmmm 08’} — 8T'EVY z6'vvy —|  9gves =)
<
<
. &
61'€Y ‘0S NA - 'zpod *|2ps jaqey TV — €6°Thy 6y vvy —| L9222 2
/ // 3
\ \ 19} — ¥S'Thy sovvy —| 00022 =
CEAE ] " — = —— m - 19} — £¥Thy veevy — €L 1L — =
o
[{e]
[sp]
S
N
0
N
o
i
.
/ // G9'L — 89’ LLEYY <0000
AT - — = = — = — m e 89'L — IS'LY 60'€vy —| 1£169 —
89'L — Z0'LYY vszvy —| 007089
IS H
S g
0EAE]-—————————————— — — S 99’} — Z8°0% zezvy A oees9
o
<
=
E
;
g %
m N
m 0L’} — 0¥ OFF v6'Lyy —| 007099 3
BEAE] - ———————mm———————— — — \ nﬁ _ T €L'L — 0€°0b 181wy —{  16'959 g —
/ |
I W\ S TLV — 1168 eelvy | 0009
SZ'0v¥ ‘05 NA - 'Zpod *|2ps [aqey S VL'V — 0468 sz vy —| €L2€9
<
=
£
%
— [oe]
= 0
° 3
19'L — 0£'6EY 1govy —|  €0'G29 — 2
1 S
£ *
[ee) o
m 19’} — 0L'6EY L90vy —{ 00029 T
| 8
m’ 1
< g
:
(@] o
< o| =
> |
S| @
: 815
. . < . . . . NS
16'8€Y 0S NA - 'zpod NN [9ge 3 19’} — 9¥'8e 16'6Er — 01709 &8
N Q| w
A ) . - {E
Z9'L — 0£'8EY 1268y —42 00°009
S
o
8
4 > 69'L — GL'JEY gz6ey —| 02'985 -
E
2 99’} — G9'JE¥ oL'eey —{ 00085 ~
> 5
/ : S
@ G9'L — 09'/€¥ 6066y —| +2'9.8 2
\ 5y 8 8
QAT -——————————— — — mm—mm = vo'L — ¥GLEY zoeey —| eezLs < —
86°2€% ‘05 Nd - ZPod NN ey — | | g
96'9¢Y ‘00€ N - @0ezlleusy Agls —— 1 | >3 59'L — 0G'LeY 868y | 68'695
o G9'L — oF /e se'gey — 9295
R>m_._-||||||||||||||||||||D||T® _ MM =99’} == gy’ Ly === €6'86F —| €9'59S ]
53 ZLL — SL9EY zL ey £9'295 ©
,|I1|\| SN
L SO 0L’} — G¥'Sey 002ev | 10'195 ||
=gl
2198 05 Na - z0od NN 10083y c— = o 62’1 — £¥'ser 15'9ev —]  00°095 .
—_— S — Y gooer_| 00255
@N>m_._.||||||||||||||||||||||||||||||||||& €9’} — GE'GEY €8'9ey —|  12'GSS —
[s2]
GEAH] = = — = = —m ﬁ €8'0 — 8L'9EY - 826V — 98'9ey — 12288 -
BGZAd] ———————————————————————————————— 4 | Y ¥8'0-— 6L9EY 65 /EV - /898y —-| LGS
88'0 — £T'9EY - €9 LEY — 96°98Y —  00°0%S
160 — VZ'O9EY - €9 L6 — 66'9EY —  L1L€G
g 9/°0 — 6T'9EY - 69 LEY — 06'95y —] 95628
© :
(< ANy ——— I e 9,0 —Le'9ey - 0226y - 2698y —{  99.9¢E
5 E — 920 —-1E'9¢Y - 04 /€Y — T69EY ¢
\ 5
> =
2
Vg 5
ﬂ_ Mm ge9cy —| SYLLS <
A 1 e i £ 91°0 — VE'9EY - VL L8V — G6'98Y —| 567608 S
on [s2]
oo
g €10 — 9€°9eh - GL LSV — ¥6'98y —  02°90G
H—= V10 — LE9EY - LL LSV — ¥6'98y —  0L°€0G
\ 0L:0 — 8E'9EY - 8L'LEV — ¥6'9EY —'2 00'00G
- 169ev — - sveer
BZZAET - —— —————— —— e — vL'0 — ev'9ey - /8 /6y — 20 Ler —|  vei8Y ||
)
©
290 — 82°9¢v - 1288y — 5z L —|  00°08Y _
N
N
~
<
\ \ \\ Z0vLy
/ i 08'0 — vl'L€¥ - LG8 — 6L°26y —|  6€TLY
CEAT ] " — = —— m —mm - ? \\ 160 — LZ L€V - bO'8ey — 16726V —|  2Z8°0L¥ -
16'0 — LT LEY gLeey —| zzeoy
N \ \\ :
N
T T® \\ 6L — LLIEY ve'eer —|  00°09% o
o
A~ — = ——m —mmm e e - 89'L — 8T8y og6ey —| 1z8vY -
\\ AN 22 &
/] e
LL'L — 69'8EY czovy —| 000vy "
wn
o
<
0L0vp'06°a3d-¢cLpey @ 9L’ — LL'6EY oy | vley
A -————————————— - T —— T f i 91’k — 61°6EY srovy —| eLoey ]
o
S
wn
N
i /i VL'l — vi6EY ze'lwy —|  00'0zy e
6€°0vY ‘0S NQ - 'zpod *|2ps [9qe) i i 0L’} — G8'6EY 6Ly —| 86721
99'L — GB'6EY syivy —| zzoly —
BN ————mmmmm e —— — \ i 0L’} — vy Oby 86'Lvy —| LLLoY w
0L’} — 6¥°0FF Y02y —S; 00°007 )
N
wn
©
[a2)
o \\ 8/'L—68 0k zszvr—  09'G8e
QINGT — — — — — L +® —— 99’} — Ll by ———— lozry —]  o09'1se _—
89'L — 60'L¥Y lozvy —|  00°08¢
<
S
™
(32
6L} — V8 Oby ————— LbThb 00'09¢ =
9%’ Lb¥ ‘0S Na - 'Zpod NN [oqe) 08’} — 280y ———— 9v'zhy 85°8G¢ &
9%’ LY 0G NQ - 'Zpod NN [eqe 08’} — 28 0%y ———— v Zh 8€°85¢ =
G*Lbb 06 NG - ZPod NN 008y — o= 08’} — 180k Shzvy 69°'/G€
St'LbY ‘06 NQ - 'Zpod NN [90e) _, 08’} — 18'0bb svzvy >~ 6v.5e
LAE] - ————mm e — 08’} — 22°0% Wwevy —|  ovvse
JOvb ‘08 60 3d - Z-1 pe
oing Loy 06°a3d-cLp w,_lo | Y Y T P 6zzvy —| ogeye |
et . 9/'L — S9°0FF SZThy 66'GE
o - aoeZIjRUEY "AB) |
m%%_@|omm|zm| i —— 9L’V — ¥9°0bF vzzvy —] oesre 9
®
, \ €1’} — SGOb zizyy —|  ooove S
80" LY ‘0S NA - 'zpod “[9ps [agey ’ €L'L — ZG0bY gozvy —| o9gsee =
PIAE]-———————m—mm—m——— — - — / 99’k — S¥OFy 56’k —|  Lovee —
29'L — 8.6 vzl —|  00°0ze -
o
69'L — JG'6EY oLivy —| 09Gle o
o
o
i
Sb'6Y ‘05 NA - 'ZPod NN [ogey 69'L — L6'8EY Syovy 9z'10¢
€v'6€Y ‘0S5 NA - 'zpod NN [oqe 69'L — 06'8EY v 0F 6'00€ -
L¥'6EY ‘0S NA - “ZPod NN [9qe) 69’} — 68'8EY Ly ovy £9°00€ &
0v'6£Y ‘0S NA - 'ZPod NN [99e) 69'L — 88'8EY ovovY £4°00€ S
o . : 33 69's — 98'8¢Y 6€ 0¥y =43 00°00€ :
€6V ‘05 NA - 'zpod NN [2qe // 69’} — ¥8'8EY LEOVY 15662 S
EIAE] - mm——mm e e e - 0L’} — 04°8E¥ vz ovy —|  09°962 — X
/ :
o
[m)]
[2]
o
S
L
o
/ // 29t — 16 LEY 66’ | 0008z
A= e T 16} — 8L7IEY eLesy —| €122 o
5
2
N~
i
/ 05’} — 96'9¢e¥ le'ger —| 00092
I 89'L — GF'9e 1628y —|  L16vC -
0.'9¥ ‘0G NQ - 'zpod “|2ps [aqe €9'L — €2'9e 0L eV €10z
€9’} — €2'9e 69 2ev— 00°0vZ
[{e]
o o
6Z'vEY ‘00F NQ - 99eZieues| ‘AlS - Z9'L — 90'9¢e¥ zesev Ao ozeez _
o
Yo
/ :
N
/ // 19') — pI°GEY szlev —| 0002z
OIAE] - ————m—mmm - 89'L — p9'GEY oLzer — L19lz _—
©
o
w
N
/ // €L') — vrSep zozey —| s6'202 e
N
/ // 9’} — L8'VEY - 2T'9EY — 2198y —]  68°70T —
LS4\ P - / 5 260 — £Lve¥ - 91'9e - 0666 — 227202
§6'0 — Z9'VEY - 8098y — ZV'SEY —¢ N 00°002
[e>]
i
[e)]
N
o]
*
~
@
88'0 — 98'CEY - 2G'SEY — BS VEY 0008}
_/ / // 26'0 — S8'EEV - 05°'5ey — 29vEY —| 2G'6LL
BGAET-—————m———mm—mmmmm—mmm—————— — — / €6'0 — B9'EEY - 6E'SEY — Ly vEY —|  O¥'GLL —
¥8'LEY ‘00 NQ - Bjuahl z npedpo usziiy I | ¥8'0 — J€'€EV - 66'vEy — 90'vEY —] 62291
GAH] —————mm e A W —
/ / / 08'0 — TEEEY - 26 VEY — L6'EEY 20091
18'0 — €2Z'SEV - 08'7EY — 68'EEY 12951
\ i 6,0 — 0Z€EY - 12 pey — ¥8'€Er —] 617551 °
INE] ——m e e LU0 — 9L'EEY - 7/ vy — 8L €y —|  €2°€S1 S
<
2
N
v1'0 — 86°CEY - 8V vEY — LGEEy —|  GL'OYL _
\ — v9'0 — €8'2ey - 62 VY —ze'eey —|  00°0VL
190 — 08'2ey - VT VeV — 9z'eey —  LS8El
‘ // 11°0 — 89°ZEY - 60 VEY — 0E'EEY zgeel
v1'0 — 19°TEY - 80 vEY — 9T EEY 6Z€El
A = e Ol ed - L ey o~ T T T T 1t S 200 = z978r - 20ver “6L ey = solel
ShE1 '@ \  p— ——Sv'0— 65728y -66'Cey ~ 6828y | 9v0e)
G8'LEY ‘'00G NQ - 0ezijeury "Aelg \\\1/ _, //// lP'0 —6S2ey - L6'eer — G8'2Er —| 2L OEL |
190 — VETEY - Jorcey —S8ZEY | 9L6TL -
N 86'0 — 66'LEV - 9g'cey — 2828y —] S8'LZL ||
1G') — GE'LEY LLTEY vrszl
3
<
1§t — 0E'LEY sozer —| 00021 <
o
o
=
PAH] —— = —— m e e §G'L — 0T'LEY 09zey —|  svoLl -
™
S
8
9G'L — €€°LeY v.28y —95 00°001 R
N~
N
29V — 8¥'Ley ge'zey —| zves —
vS'L — Ly LEY 08'zer —| 0008
EAE] —— = = m €6'L — GE'LEY ereey — zseL
[e]
S
Q
IS ~
S N
o ©
x
2 €6'L — vT'LEY zozey —| 0009
<
=
<L
<
S
I
>
O
T
s
=
w
ZAET] = = — \ L) — LU LEy ———— eozer —| veer -
[} o E £6'L — 0L'LEY gezer | orer
82
£ c m Y
e = 5
< N >m
3 S 2¢
: -l g2
= s 39
o E 50
- < 58
9 & L&) — 26'0eY - CTTEY - pL°ZEY ev'ze o
y o r b'L ——1B0Ey - b2 —szey | S9le N
A ] L'l — 68°0er - L T8V —1zzer N 0002 _
- 19’k — 9608 - 092V — ze'zer | 1p9L S
Gz'lev ‘09 N - 'zpod [agey Aondo e A 19’V — S8'0EY - 95°CEY - GEZEY GL'Gl @
9€'1€ ‘05 NQ - '2pod '|2ps jage}  — e 99’} — G8'0EY - GSTEY - @m.Nm_)ﬂ €0'GL
9€'LEY ‘0 NA - ZPod NN [99e < 99’} — G8'0EY - G5'ZEY — 9E'ZEY 86yl
Ly '0SY ‘00€ NQ - 99ezZIfeuy| "ABlS ZLL — Z8°0eY eveer —| s
o €1') — 92°0¢ vezey v9'S
I GI'L — 0L°0Ey 0e'Zey &
HO— | VL) — G908y — wm.mmv//H 181 =
2167 008 NQ - 908zlleue) nels —— T\ 19} — 2908y — vL'ZEY 890 Q
/'0€% ‘011 NQ - POAOPOA /}VT\ 1 R
IAT=NZ— = ————————m————m————————— — — __ (P 59'} — 0908y ——— 60°ZEY B3 00°0 =
01120 3d ‘QV Z PoACpOA eu ousfoden S o
F -m_
2
O Zz =3
d s £z
‘W
) L @)
=) = M _
— @) NTT
> = > 8 I _ o<
t o R ‘L m ! R
> N = @) Z = —
- — 8 < 5 W 2 £ (O
5 - _ 3 T &8 z Z = EZ
E W23 s £ B § 7 5
E ]
o AN 2 s 40 35 F O ZE
o A = ) > > > zZ O £
L 0 e) = = = < 0=
= O Y T 2 ¢ ¢ % Zre
)] = T X X X (7p] () m)




